2 M : Marks , L: Bloom’s level , C: Com‘se outcomes.

Module L C
Q.1 |a. | What is IOT? Explain the sequedgé ) L2 | CO1
to the shaping of the modern IOT. " -
b. | Explain the different Network Topologies with neat diagram, 5 | L2 | CO2
c. | With the help of neat bloc d1agram explain ISO-OSI Layered Network 10| L2 | CO2
Model.
OR
Q.2 | a. | Explain various engblers of IOT and the complex mterdependen(:les among | 10 | L2 | CO1
them. y
b. | Define: (1) M2M (n) CPS (i) IOE (w) 1OP. Brief the differences | 10 | L1 | CO1
between IOT & M2M and 10T & WOT..
Module -2
Q3 |a. Deﬁne Sensors. Classify the various sensors based on power requirement. 8§ | L1]|Co1l
b. | Explain the functional blocks of atypical sensor node inIOT. 8 | L2 | CO2
c. | Define Actuators. Explain briefly the actuator types ; .| 4 | L1|CO3
‘ OR Ve ‘54?;“;(”
Q.4 | a. | What are the major factors influences the cholce of sensors in IOT based | 8 | L2 CO2
sensing solutions? Explain briefly. :
b. | Explain the dlﬁrerent sensing categories” based on the: na;ure of the| 6 | L2 | CO1
environmentbeing sensed and the Msmal Sensors.
c. | Explain the dlfferent characterlstlcs'of actuators. 6 | L2 | CO1
Module 3
Q5 |a. Claselfy the IOT processmg_opologles and explain them briefly. 10 | L2 | CO2
b. | What is processing ofﬂoadmg? Expldm the different data offloading | 10 | L2 | CO2
methods .
OR
Q.6 | a. | What are the dlfférent data forma found in 10T network traffic streams? | 7 | L2 | CO2
Explain in brief.
b. | Briefly explain the different types of data to be processed based on the | 6 | L2 | CO2
urgency of processing. "
¢. | Explain the deciding factors for selecting a processor for the design of a | 7 | L2 | CO2
sensor node in IOT de;nce ,/
U,
Module — 4
Q.7 | a. | Define cloud computing. What are the advantages of cloud computing? 6 | L1 | CO1
b. | What is virtualization? Explain the advantages of virtualization. 7 | L2 ]| CO2
¢. | Explain the different types of virtualization. 7 | L2 | CO2
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OR
Q.8 | a. | With a neat block diagram, explain the cloud model. ; 10| L2 | CO2
b. | With a neat diagram, explain the components used in an grlcultural 10T. 10| L2 | CO2
Module - §
Q.9 | a. | With a neat diagram, explain the architecture of v Vehléhlar 10T. 6 | L2 | COl
b. | With a neat diagram, explain the components used in vehicular IOT. 8§ |[L2|CO2
c. | Explain the advantages of IOT in transportation. 6 | L2 | CO1
Q.10 | a. 12| L2 | CO2
b. 8 | L2 | CO1
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